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ECO-01 Business Organisation
Note : Attempt any five questions. All questions carry equal marks.

1. What is capital structure ? State the various factors responsible for deciding the capital structure of a
company. [3+7=10]

Ans: The proportion of fixed interest-bearing capital in the total capital is known as capital gearing. The
capital is, thus, said to be highly geared if borrowed. capital is, proportionately very high in relation to
the ownership capital. Correspondingly, low gearing of capital signifies a smaller proportion of borrowed
capital compared with the ownership capital. The composition of the total capital consisting partly of
long-term funds with fixed charge and partly of ownership funds is known as the capital structure. Thus,
capital structure refers to the relative proportion in which various sources of long-term finance are used
to meet the total financial requirements, like debentures and long-term loans, preference share capital,
and equity capital (including reserves and surplus).

Factors determining the capital structure of a firm are:

1.Nature of the business: If a company is engaged in business activities in which sales are subject to wide
fluctuations, it is desirable to have a smaller proportion of borrowed funds. Companies manufacturing
televisions, refrigerators, machine tools and capital goods are normally subject to fluctuations in sales
from time to time. Companies dealing in essential consumer goods of daily use are products having
inelastic demand generally have stable earnings, and thus may depend to a greater extent on borrowed
capital.

2. Characteristics of the company: The size of a company as well as its credit standing also determines
the extent to which equity or debt capital should be raised. Small firms have to depend more on owners'
funds as it is difficult for them to raise long-term loans. This is because investors consider lending to
small firms to be riskier. In contrast, large companies must make use of different sources of raising funds
as no single source can meet their total financial requirements. Normally investors prefer to lend money
to large companies as they believe that their money is safe and the risk is less with big business firms.

3. Cost of finance: Since interest paid on borrowings is chargeable to profits before tax calculation, the
cost of debt financing is inevitably lower than the expected rate of earnings (i.e., profitability) on equity
capital. Hence, it is always beneficial to raise part of the total financial requirement through long-term
loans. With lower cost of debt financing, the overall (average) cost of financing is reduced, and the
return on equity capital is higher. This is one of the important determinants of the capital structure.

4. Flexibility of capital structure: The capital structure decision is usually made by management keeping
in view their ability to adjust the sources of funds. The scope of changing the capital structure in future
happens to be a basic consideration. For instance, in case additional funds are needed, a firm which is
already financed with heavy debt may be forced to issue equity shares with a higher cost of finance
involved. Or, again if funds raised are to be refunded on account of declining business, a firm may be
unable to do so if it earlier relied heavily on equity capital.

5. Availability of cash (cash flow): The ability of a business to discharge its fixed obligations depends
essentially on the availability of liquid cash. Profits earned may be adequate to cover the fixed charges
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arising out of debt, but the firm may not have sufficient cash to pay as the income gets continually
invested in the form of more inventory, book debts or even purchase of equipment. Hence, besides
profitability, it is necessary to estimate the cash flows before deciding on the proportion of debt in the
capital structure.

6. Expected earnings in relation to interest charges: Another factor determining debt-equity ratio is the
estimated coverage of interest by profits. If the average earnings of the company are expected to be
three to four times the amount of interest payable on borrowed capital, it may be considered safe to
raise long-term loans rather than equity capital. Three to four times coverage of interest by earnings is
regarded as a reasonable assurance that interest payment would be possible even if profits decline
substantially.

7. Effect of debt financing on the earnings per equity share: The effect of debt on the rate of return on
equity (or earning per share) is known as 'trading on equity' or 'leverage effect', Thus in business
ventures with assured prospect of rising income, there is greater emphasis on debt capital in the capital
structure.

8. Management control: Promoters who had major shareholding and control the management of the
company take into account the probable effect of raising funds through the Issue of equity shares.
Equity shareholders having voting rights can influence the policy decisions of the company or the
selection of directors. But the persons who give loans do n ot have any right to elect directors or to
participate in the management of the company. Hence the existing management group, in order to
retain their control over management, prefer to raise additional finance through the issue of debentures
and preference shares.

2. Distinguish between Entrepreneur and Promoter. Explain the characteristics of an Entrepreneur.
[545=10]

Ans: Difference between Entrepreneur and Promoter:

Those who are innovators and risk-bearers are strictly known as 'entrepreneurs' while those who take
steps to set up the business and make it operational are known as '‘promoters'. The entrepreneur is
someone who comes up with the idea/solution and/or develops a business around it. Those who take
steps to set up the business and make it operational are known as '‘promoters'. Entrepreneurs may or
may not be specialists in the field of business. Promoters are basically specialists who work to set up a
new business, expand an existing business or combine two or more business firms. An entrepreneur can
be a promoter but a promoter may or may not be an entrepreneur. In actual practice, such distinction
does not hold well because Entrepreneurship (act of Entrepreneurs) does not remain confined only to
identifying a business opportunity and his preparedness to do something new. It does not end with the
entrepreneur undertaking to bear the risks of business. It also extends to planning for the business and
taking necessary steps to put it into operation. After all, a business becomes a business only when it gets
going. An entrepreneur is basically someone who has founded the company. A promoter, on the other
hand, is someone who promotes the business. An entrepreneur is fully responsible for the company’s
success or failure. Promoter is responsible for getting others to invest into the business venture.

Ans: Characteristics of an Entrepreneur are:
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i. Independence: Many entrepreneurs who started their businesses resisted being pigeonholed or
following routine habits. In fact, entrepreneurs become frustrated when they have to follow someone
else's direction. They have to be the boss. They like to be in control. They find it difficult to work under
the direction of others.

ii. Hard Work: Willingness to work-and work hard-is an outstanding trait of entrepreneurs. A successful
entrepreneur described his early experiences that they worked endless, twelve hour days and
sometimes seven days a week.

iii. Desire-to Achieve Goals: They have a strong desire to overcome problems and setting up successful
business ventures which eventually give adequate profits. They considered profit as measure of their
achievement and performance rather than making money alone.

iv. Foresight arid Dynamic Outlook: Basically, these people have wide knowledge about business
environment i.e., market, consumer attitude, technological development, etc. Further, they ore dynamic
in forecasting business uncertainties and risks, accordingly, they take quick and sound decisions.

v. Open-mindedness: They are intelligent in predicting changes in business environment. However, they
never resist changes because they know that they cannot stop it. Therefore, they are habituated to
open-mindedness even though sometimes they lose crores of' rupees due to changes in consumer
tastes which ultimately forced them to change their technology, etc.

vi. Optimistic Outlook: They are generally inclined to believe that present problems are of it temporary
nature and conditions will be more favourable in due course. Entrepreneurs are always eager to achieve
their goals in the best possible manner, to get outstanding results which they can be proud of.

vii. Working Relationship : The success of a business mostly depends upon its workers first rind then
their links with other business undertakings. Most of the successful business entrepreneurs have had
harmonious relationships with others. This builds up their reputation in the market.

viii. Good Organisers : They are good at bringing together different types of resources needed for
starting a business and making it operationally efficient. They can convince people about the prospects
of business, get their cooperation, raise funds, procure machinery, arrange supply of materials, select
right type of employees and coordinate various activities relating to the business.

ix. Innovative Aptitude: Most of the successful entrepreneurs have innovative aptitude. They spend part
of their income on research and innovative activities so that they offer suitable products to meet the
demands of consumers. Some of our industrialists like Tata, Birla, Kirloskar, etc. have established their
own research centres.

3. What is foreign trade ? Write its importance and common problems of foreign trade. [2+4+4=10]

Ans: Nations, like individuals, do not possess everything they need to fulfil their requirements. Even
countries like the USA, USSR and China, which are rich in natural and human resources have to look to
other countries for supply of some of their requirements. For instance, consumers in USA obtain their
supply of sugar and coffee from other countries. Moreover, different countries possess different types
of resources. Those which have a surplus of certain resources find it beneficial to sell the surplus items
to some other countries and buy other items which they need. Such exchange of goods and services
between people, across national boundaries is called 'foreign trade' or 'international trade*. Foreign

3 Aviyal Presentations



ECO-01 Solved Question Paper

trade can ' be bilateral or multilateral. When there is tr3de between people of any two nations, it is
bilateral: foreign trade is multilateral when people of any country buy from and sell to people of more
than one country. Production of goods and services requires different resources like men, materials,
money, machines and management. If we compare the resources possessed by nations it will be found
that no country is selfsufficient and there are differences in the quality and quantity of domestic
resources available in different countries.

External trade is also known as international trade or foreign trade. Trade between two or more
countries is external trade. The restrictions are numerous. A firm requires permission from Government
authorities before goods can be imported or exported. Involves the exchange of currencies between the
nations which are involved in the trade. Payment can be made only through bank. It involves very high
transportation costs and risky situations to transfer goods from one country to another. It depends upon
the seaways and the airways between the countries involved in the trade. It involves more
documentations and approvals from government and it is a long process to get approvals from
government. It involves wide time gap between the goods dispatched from the home country and goods
received by the other country. It facilitates countries to export the goods which they have surplus and
import goods which are short in supply.

Importance of foreign trade:

i) Specialisation and efficiency of production: Foreign trade leads to specialisaiton in productive activities
undertaken by different countries. Depending on available natural resources, and development of
science and technology, every country can produce only those goods and services for which it has the
greatest relative advantage and efficiency. No country has facility and resources within its own
boundaries for economical production of all its requirements: Some countries are more suitably placed
to produce certain goods/services economically and sufficiently than other countries. Therefore, they
can specialise in the production of such goods and get the goods they need in exchange for those goods,
For example, India has comparatively greater advantages for the production of agrobased products such
as coffee, tea, sugar, textiles, etc. Similarly some developed countries such as USA, Japan, Britain, etc.
have greater advantages for the production of industrial machinery, automobiles etc. Some gulf
countries such as Iran, Libya, Iraq, Saudi Arabia, etc. produce crude oil, petroleum, etc., in abundance.

ii) Facilitates economic development: Rapid economic development and growth of national income can
be facilitated on the basis of exports and imports. Indeed, it is on the basis of imports of raw materials
and export of manufactured goods that countries like U.K., Japan etc., have achieved a high rate of
economic growth.

iii) Equalisation of prices: International trade equalises prices of goods throughout the world. Whenever
the prices of commodities tend to rise in a country, it can increase the level, of its imports to check the
rise in prices. Similarly, whenever prices of products decline, the trend may be counteracted by
exporting the same.

iv) Employment opportunities: Foreign trade facilitates the growth of agricultural as well as industrial
activities which in turn generates more employment in the country.

v) Harmonious relationship between countries: Because of foreign trade every country may have access
to goods that it does not produce at home. Similarly, a country with a surplus of certain goods can make
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them available to other countries experiencing shortage of those goods. This promotes harmonious and
cordial relationship among various countries.

vi) Utilisation of resources: Every country possesses some natural resources. The economic development
of a country heavily depends upon exploitation of these resources. For example, India has adequate off-
shore oil resources. But, it requires exploitation through sophisticated machines, technology, etc. which
we do not h8ve. Machinery and technology can be imported from the developed countries like USSR,
USA, Japan, etc. This leads to best possible use of natural resources.

The problems of foreign trade are:

i) Suitability of the product for the market: Securing information about the suitability of products in the
foreign market is a challenging task for every international marketer. This involves heavy expenditure
and requires special skill and knowledge. Besides, the quality and price of goods must be more attractive
as compared with similar products manufactured abroad. This requires intensive market research on the
potential sale of goods to be exported.

ii) Changes in supply and demand conditions: International markets are often subject to changes in the
supply and demand for particular products due to the entry of new competitors, or increased
competition of local producers, or because of changes in buyers preferences. These changes cannot be
easily anticipated by the exporters.

iii) Frequent price changes : The price of products in the international market may be affected by
different factors. The changes may be due to changes in exchange rates of the currencies of importing
and exporting countries, higher import duties, or freight rates. These factors increase the risks of foreign
trade a great deal.

iv) Credit risk: International trade which is generally on a large scale involves heavy amounts to be paid
by the importer. The exporters often sell their products on credit and therefore have to bear the credit
risk arising from the buyer's default, bankruptcy, etc.

v) Changes in exchange rate: An additional risk of foreign trade is the risk of changes in exchange rates.
The rate at which the currency of importing countries can be converted into the currency of exporter
may cause losses to the exporter or the importer.

vi) Time gap: The distance involved is usually greater in transporting goods from one country to another
country, and hence the transit time is longer. This time gap involves exporter's capital being locked up
over a long period.

4. Mention the concept of channel of distribution. What are the various factors affecting the choice of
the distribution channel ? Explain. [5+5=10]

Ans: The channel of distribution is a network of institutions that perform a variety of interrelated and
coordinated functions in the movement of goods from producers to consumers.

We can classify the distribution channels into two broad categories: (1) direct channels, and (2) indirect
channels (use of middlemen).

1) Direct Channels: When the producers sell their goods directly to the consumers it is called a direct
channel. No middlemen are present between the producer and the consumer. 2)Indirect channels: In
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the case of all the products it is not possible for the manufacturer to supply goods directly to the
consumers. So may be middlemen like wholesaler, retailer and mercantile agents may be engaged in the
channel of distribution. When the middlemen are engaged, it is called an indirect channel.

The following factors generally influence the choice of the channel of distribution:
1) Distribution policy

2)Characteristics of the product

3) The target customers in view

4)Supply characteristics

5)Types of middlemen in the field

6) Channel competition

7) Potential volume of sales

8) Costs of distribution

9) Profits expected in the long-run

1)Distribution policy: Where the manufacturer is interested in distributing his products through all
possible outlets, it is desirable to use more than one channel to reach the target customers. This is
known as intensive distribution policy. The purpose in this case is to make the product available as near
to the consumers as possible. Consumer goods of frequent use like pens, pencils, paper, soap, hair nil,
etc., are distributed through a large number of wholesalers and retail traders. If goods are meant for
customers who are very particular about their quality and usefulness, manufacturers adopt a selective
distribution policy.

2)Characteristics of the product: The nature of the product influences the choice of channel. For
example, perishable products like eggs, milk, etc., are supplied either directly or through the short
channels. In the case of heavy and bulky products (e.g., cement, steel) where distribution and handling
costs are higher, short channels are preferred. Sophisticated electrical and electronics equipment which
require careful handling are also generally distributed directly or through short channels. On the other
hand, long channels are found in the case of light-weight and small-size items like dress material,
readymade garments, pocket calculators, stationery, toothpaste, toothbrush, etc. Similarly, simple
mechanical products like electronic toys, time-clocks, etc., are supplied through long channels for
intensive distribution.

3)Characteristics of target customers; If the number of customers is large and geographical area is
extensive, long and multiple channels are necessary for intensive distribution of goods. This is also
suitable where the consumers are in the habit of making frequent purchases of small quantities at
irregular intervals. Short channels and direct selling are possible in the case of few customers who
purchase large quantities at regular intervals and they are concentrated in a small area.

4)Supply characteristics: Goods produced by a small number of producers concentrated in one region
are generally distributed through short channels. Long channels are suitable if a large number of
producers in different regions produce and supply the goods.
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5)Types of middlemen: Availability of suitable middlemen in the channel of distribution is another factor
in the selection of the channel. This is because different functions like standardisation, grading, packing,
branding, storage, after sale servicing, etc., are expected to be performed by middlemen. Efficiency of
distribution depends upon the size, location and financial position of middlemen. If the middlemen in a
specific channel are dependable and efficient that channel may be preferred by producers.

6)Channel competition: There are different situations in which manufacturers compete with each other
for availing the services of particular wholesalers. Similarly, wholesalers often compete with each other
to deal with particular retailers or carrying particular brands of products. Sometimes producers use the
same channel which is used by their competing producers. If any producer arranges exclusive
distribution through a particular wholesaler, other producers also do the same. Thus, selection of a
channel may depend on the competition prevailing in the distribution system.

7)Potential volume of sales: The choice of the channel depends upon the target volume of business. The
ability to reach target customers and the volume of sales varies between different channels. One outlet
may not be adequate for achieving the target in which case more channels need to be used. Of course,
the competitive situation must be taken into account while examining the potential volume of sale
through different channels.

8)Cost of distribution: The various functions carried out in the channel of distribution add to the cost of
distribution. While choosing a channel, the distribution costs of each channel should be calculated and
its impact on the consumer price should be analysed. A channel which is less expensive is normally
preferred. Sometimes, a channel which is convenient to the customers is preferred even if it is more
expensive. In such cases the choice is based on the convenience of the customers rather than the cost of
distribution.

9)Long-run effect on profit: Direct distribution, short channels, and long channels have different
implications with regard to the profits in the short-run and long-run. If demand for a product is high,
reaching the maximum number of customers through more than one channel may be profitable. But the
demand may decline in course of time if competing products appear in the market. It may not be
economical then to use long channels. So, while choosing a channel one should keep in mind the future
market implications as well.

5. Distinguish between the following : [5+5=10]
(a) Partnership and Company

Ans: Partnerships have the disadvantages of limited resources, unlimited liability, limited managerial
skills, etc. The life and stability of these organisations also depend on the life and stability of the
proprietors/partners. Hence, they are not considered suitable for large scale business. Large-scale
businesses requires large investment and specialised managerial skills. The element of risk is also very
high. This situation is led to the emergence of company form of business organisation. In case of
company form of organisation, capital is contributed by not one or two persons but by a number of
persons called shareholders. Thus, it is possible to raise large amount of capital. A company form of
business organisation is an association of persons registered under Companies Act for carrying on some
business. It is called an artificial person as it is created by law, with a distinctive name, a common seal
and perpetual succession of members. It can sue and be sued in its own name.
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In partnership form of organisation, liability is unlimited. In respect of business debts, each partner has
unlimited liability. This means that if the assets of the firms are not sufficient to meet the obligations of
the firm, the partners have to pay from their private assets. The creditors can even realise the whole of
their dues from one of the partners. Thus, all the partners are jointly and severally liable for all business
debts and obligations. Whereas, in company form of organisation, liability is limited. The liability of the
members of a company is normally limited by guarantee or by the shares. Members liability is limited to
the amount of shares held. Members are not personally liable for the debts of the company. So,
personal properties of the members are not liable to be attached for the payment of the company's
debts.

Since there is a limit of' maximum partners (20 in non-banking firms and 10 in banking firms), the capital
raising capacity of the partnership firms is limited as compared to a joint stock company. Since company
form of organisations are allowed to have a large number of shareholders, it is possible to raise capital in
large amounts. Whenever new capital is required, it can issue shares and debentures. For this reason,
only the company form of organisation is best suited.

In partnership form of organisation, no partner can transfer his interest in a firm without the consent of
other partners. In company form of organisation, the members enjoy a statutory right to sell his share to
others without the consent of other shareholders.

As a company is an artificial person so that it can enter into contracts in its own name, the members are
not held liable for the acts of the company. But in the case of a partnership form of business
organisation, a partner can enter into a contract in their own name with the mutual consent of the other
partners, and they can also be sued for the acts done by the firm.

In company form of organisation, the membership is very large, so the business risk is divided among
the several members of the company. This is an advantage for small investors.

The sudden death, lunacy or insolvency of a partner leads to the dissolution of partnership. This breeds
uncertainty in the continuity of a partnership firm. A joint stock company has a continuous existence. Its
life is not affected by the death, lunacy, insolvency or retirement of its shareholders or directors.
Members may come and go, but the company continues its operations until it is legally dissolved.
Partnership form of organisation is managed by all the partners, there is no separate professional
managers appointed due to lack of resources. Whereas, company form of organisation is managed by
highly professionalised experts and Board of Directors.

Since they are more in number, most of the shareholders of the company may not know each other. We
cannot expect that all the shareholders are just and honest to one another. But in the case of
partnership, the partners know each other thoroughly. The partnership agreement is based on utmost
good faith. So the partners are to be just and honest to one another.

Companies pay income tax at flat rates. There is no provision for slab system in the taxation of
companies. As a result, companies pay lower taxes on higher incomes compared to other forms of
organisations. Companies also get some tax concessions if they are established in backward areas.

Companies are subject to Government controls and regulations. Their accounts are audited by a
chartered accountant and are to be published. This creates confidence in the public about the
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functioning of the company. Whereas in partnership form of organisation, Since the accounts are not

published and publicised, the firm may not be able to command confidence of the public.

(b) Equity shares and Preference shares

Equity Shares

Preference Shares

Equity shares are ordinary shares of a company
that represent ownership of the company.

Preference shares are ones that carry preferential
rights in terms of dividend payment and
repayment of capital.

Equity Shares are the shares that carry voting
rights and the rate of dividend also fluctuate
every year as it depends on the amount of profit
available to the company.

Preference Shares are the shares that do not
carry voting rights in the company as well as the
amount of dividend is also fixed.

Equity shares cannot be converted into
preference shares.

Preference shares could be converted into equity
shares.

Equity shares are irredeemable

preference shares are redeemable.

Equity shareholders are at high risk in comparison
to preference shares.

In comparison to equity shareholders, the risk is
low in the case of preference shares.

In the case of equity shares, the dividend rate is
not fixed. The rate of dividend on these shares
depends on profits available and the discretion of
directors.

Dividend is payable on preference shares at a
fixed rate and is payable only if there are profits.

Equity shareholders are entitled to receive bonus
stocks from the company.

Preference shareholders are not entitled to
receive bonus shares.

Lower costs of equity shares make them easily
accessible to any investor, specifically a small
investor.

Higher costs of preference shares makes them
accessible to medium and large investors.

It is mandatory for companies to issue equity
share capital.

It is not mandatory for every company to issue
preference share capital.

Equity shares serve as means for long-term
financing.

Preference shares serve as means for mid-term
and long-term financing.

6. Write short notes on the following : [5+5=10]
(a) Rationale of public enterprises

(b) Trade credit

Ans: Trade credit: Just as companies sell goods on credit, they also buy raw materials, components,
stores and spare parts on credit from different suppliers. Hence, outstanding amounts payable to trade
creditors as well as bills payable relating to credit purchases are regarded as sources of finance.
Generally, suppliers grant credit for a period of 3 to 6 months, and thus provide short-term finance to
the company. Availability of this type of finance is closely connected with the volume of business.
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When the production and sale of goods increase, there is automatic increase in the volume of
purchases, and more of trade credit is available. On the other hand, if sales decline there-is a
corresponding decline in purchases of materials, and consequent decline in trade credit as a source of
finance. Thus, creditors' balances (accounts payable) and bills payable help companies to finance current
assets, i.e., stock of materials and finished goods as well as book debts. However, trade credit also
involves loss of cash discount which could be earned if payments were made within 7 to 10 days from
the date of purchase. This loss is regarded as the cost of trade credit.

7. "Advertisement is a social waste." Comment. [10]

Ans: Though advertising is one of the most frequently used medium of promotion of goods and services,
it attracts lot of criticism. The opponents of advertising say that the expenditure on advertising is a social
waste as it adds to the cost, multiplies the needs of people and undermines social values. The
proponents, however, argue that advertising is very useful as it increases the reach, brings the pay unit
cost of production down and adds to the growth of the economy. It is therefore, important to examine
the major criticisms against advertising and see the extent to which these are true. This is taken up as
follows:

1. Adds to Cost: The opponents of advertising argue that advertising unnecessarily adds to the cost of
product, which is ultimately passed on to the buyers in the form of high prices. An advertisement on TV,
for a few seconds, for example, costs the marketers several lakhs of rupees. Similarly, an advertisement
in print media say in a newspaper or a magazine costs the marketers a large amount of money. The
money spent adds to the cost, which is an important factor in fixation of the price of a product. True,
advertisement of a product costs lot of money but it helps to increase the demand for the product as
large number of potential buyers come to know about the availability of the products, its features etc.
and are persuaded to buy it. The increased demand leads to higher production, which brings with it the
economies of scale. As a result, the per unit cost of production comes down as the total cost is divided
by larger number of units. Thus, the expenditure on advertisement adds to the total cost but the per
unit cost comes down which in fact lessens the burden of consumers rather than adding to it.

2. Undermines Social Values: Another important criticism of advertising is that it undermines social
values and promotes materialism. It breeds discontent among people as they come to know about new
products and feel dissatisfied with their present state of affairs. Some advertisements show new life
styles, which don’t find social approval. This criticism is not entirely true. Advertisement in fact helps
buyers by informing them about the new products, which may be improvement over the existing
products. If the buyers are not informed about these products, they may be using inefficient products.
Further, the job of an advertisement is to inform. The final choice to buy or not to buy anyway rests with
the buyers. They will buy if the advertised product satisfies some of their needs. They may be motivated
to work harder to be able to purchase these products.

3. Confuses the Buyers: Another criticism against advertisement is that so many products are being
advertised which makes similar claims that the buyer gets confused as to which one is true and which
one should be relied upon. For example, we may note similar claims of whiteness or stain removing
abilities in competing brands of detergent powder or claims of whiteness of tooth or ‘feelings of
freshness’ in competing brands of toothpaste that it is sometimes confusing to us as to which one to
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buy. The supporters of advertisement, however, argue that we are all rational human beings who make
our decisions for purchase of products on factors such as price, style, size, etc. Thus, the buyers can clear
their confusion by analysing the information provided on the advertisements and other sources before
taking a decision to purchase a product. However, this criticism cannot be completely overruled.

4. Encourages Sale of Inferior Products: Advertising does not distinguish between superior and inferior
products and persuades people to purchase even the inferior products. In fact, superiority and
inferiority depends on the quality, which is a relative concept. The desired level of quality will depend on
the economic status and preferences of the target customers. Advertisements sell products of a given
quality and the buyers will buy if it suits their requirements. No advertisement should however, make
false claim about the quality of a product. If a firm makes a false claims it can be prosecuted for the
same.

5. Some Advertisements are in Bad Taste: Another criticism against advertising is that some
advertisements are in bad taste. These show something which in not approved by some people say
advertisements showing women dancing when not required or running after a man because he is
wearing a particular suit or using a particular perfume are certainly not good. Some advertisements
distort the relationship like employer employee and are quite offensive.

6.Advertising leads to monopoly: Small competitors find it difficult to enter the market due to
advertising. This is because large firms create hurdles in their way.

7.Advertising causes undesirable social effects: Certain social effects can be. there due to advertising like
it influences the materialistic values and life styles of people in society, certain sex and, horror appeals
are used in order to draw the consumers attention, it creates frustration and disappointment when a
person cannot purchase and enjoy a particular product.

8. Advertising results in inefficient resource allocation: Advertisements are intended not so much for the
benefit of consumers. They are mainly directed to influence the consumer demand to fit whatever has
been produced. In other words, advertisements are aimed mainly to change the tastes of people so that
they will buy whatever is manufactured. This leads to distortion in consumption expenditure and
increases the producers market power. Thus, advertising indirectly determines what people should
consume. In this process productive resources i.e., land, labour and capital, may not be used in the best
interest of the society.

9. Advertising may act against the freedom of press: Mass media earn huge income from
advertisements. If the media are dependent on income from advertisements sponsored by few large
business firms, it may be difficult to disseminate information in public interest when it is unfavourable to
those big business firms. Big sponsoring firms can threaten the media owners by refusing their
advertisements and dictate what media have to do. Thus, the financial dependence of media on
advertisements may act against the freedom of press.

8. Explain the factors determining the choice of the form of business organization. [10]
Ans: Factors determining the choice of form of business organisations:

1) Nature of business: Choice of a suitable form of organisation is dependent on the nature of the
proposed business. The organisational requirements are different for different types of business. For
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example, a big cement manufacturing activity and a retail cement shop cannot have the same form of
organisation. Similarly, the form of organisation suitable for a textile mill is not suitable for a tailoring
shop.

2) Volume of business: The expected volume of business also influences the decision about the suitable
form of organisation. If the volume of business is small, you need small amount of capital and run less
risk. In that case sole proprietorship may be quite suitable. But if the volume of business is large, you
need more capital and runs more risk, which a single owner may find it difficult to cope with. So,
partnership form or a company form would be considered more suitable.

3) Area of operation: The area of operation of the business also influences the choice of form of
organisation. If the area is limited and confined to a particular locality, the suitable form of organisation
may be sole proprietorship. If the area is widespread, the suitable form may be a joint stock company.

4) Desire for control: The extent of control and supervision will also determine the choice of
organisation. If it is desired to have a direct control over the business operations, a sole proprietorship
or a partnership form of business should be adopted. 1n case if you feel that there is no need for direct
control, the company form of organisation is the best.

5) Capital requirements: The form of organisation will also depend on the extent of financial
requirements of the business. A business which requires a small amount of capital can be organised on
sole proprietorship or partnership basis. But if the financial requirements are huge, then the joint stock
company form of organisation may be preferred.

6) Extent of risk and liability: You know business operations involve risk. If the promoters of a business
enterprise are deterred by the risk involved, they will start the business on the basis of a limited liability.
That means they can go for a company. In case they have capacity to bear the risk involved, it can be
organised on sole proprietorship or partnership basis.

7) Government regulations: Governmental controls and regulations are more in company form and
cooperative form of organisations compared to the remaining two forms. If you do not want too much
government control and regulation, you should choose either sole proprietorship form or partnership
form.
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